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PART -1
Answer any three from the following Eight questions.

1. Give the meaning of under-developed countries and its characteristics. 14

2. Explain the meaning of developing country and give the characteristics of Indian

Economy. 14
3. State the reasons of population explosion in India. 14
4. Which impact of population increase has on economic development in India ? 14
5. Give the meaning of green revolution and explain its components. 14
6.  What is green revolution ? State its advantages and disadvantages. 14
7. Discuss the main sources of agriculture finance in India. 14
8.  State the limitations of agriculture products marketing in India. 14
PART - 11
(Compulsory)

9.  Answer any four MCQs :
(1) From which perspective India is an agriculture based country ?

(a) Income (b) Employment (¢) Investment
(2) To which world India, Pakistan and Sri Lanka belong to ?
(a) First World (b) Second World (¢) Third World

MM-114 3 P.T.O.



3)

“

©)

(6)

()

®)

MM-114

‘Population census is conducted after every 5 years in India.” — This statement is

(a) True (b) False (c)
How much population density was in India during 2011 ?
(a) 117 (b) 300 (c)
Who was the pioneer of Green Revolution ?

(a) Marshall (b) Dr. Kurian (©)
Which of the following is an Institutional change ?

(a) Irrigation (b) Chemical fertilizers (c)
Who enacts laws for the establishment of APMC ?

(@) Union Government (b) State (©)

How much agricultural area in India is rain fed in 2011 ?

(a) 56% (b)  47% ()

Uncertain

382

Dr. Ademan Florence

Land reforms

District Panchayat

78%



